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Задача 1. Одреди ги сите парови (𝑎, 𝑏) од позитивни цели броеви за кои важи 
11𝑎𝑏 ≤ 𝑎ଷ − 𝑏ଷ ≤ 12𝑎𝑏. 

 
Задача 2. Нека 𝐴𝐵𝐶 е остроаголен триаголник во кој важи 𝐴𝐻 = 𝐻𝐷, каде што 𝐻 е 
ортоцентарот на 𝐴𝐵𝐶 и 𝐷 ∈ 𝐵𝐶 е подножјето на висината спуштена од темето 𝐴. Нека со 𝑙 
е означена правата низ 𝐻 што ја допира опишаната кружница околу триаголникот 𝐵𝐻𝐶. 
Нека 𝑆 и 𝑇 се пресечните точки на 𝑙 со 𝐴𝐵 и 𝐴𝐶, соодветно. Да ги означиме средините на 
𝐵𝐻 и 𝐶𝐻 со 𝑀 и 𝑁, соодветно. Докажи дека правите 𝑆𝑀 и 𝑇𝑁 се паралелни. 
 
Задача 3. Одреди ги сите четворки (𝑝, 𝑞, 𝑎, 𝑏) од позитивни цели броеви, каде што 𝑝 и 𝑞 се 
прости броеви и 𝑎 > 1, за кои важи 

𝑝௔ = 1 + 5𝑞௕. 
 
Задача 4. Еден парен позитивен цел број 𝑛 се нарекува “убав” ако множеството {1,2, . . . , 𝑛} 

може да се разбие на 
௡

ଶ
 двоелементни подмножества, такви што збирот на елементите во 

секое подмножество е степен на 3. На пример, 6 е “убав” бидејќи множеството {1,2,3,4,5,6} 
може да се разбие на подмножества {1,2}, {3,6}, {4,5}. Одреди го бројот од “убави” 
позитивни цели броеви што се помали од 3ଶ଴ଶଶ.  
 
 
 
 
Време за работа: 4 часа и 30 минути. 
Секоја задача се вреднува со 10 поени. 



JBMO 2022 - Solutions

Problem 1. Find all pairs (a, b) of positive integers such that

11ab ≤ a3 − b3 ≤ 12ab.

Solution 1. Let a− b = t. Due to a3 − b3 ≥ 11ab we conclude that a > b so t is a positive
integer and the condition can be written as

11b(b+ t) ≤ t
[
b2 + b(b+ t) + (b+ t)2

]
≤ 12b(b+ t).

Since

t
[
b2 + b(b+ t) + (b+ t)2

]
= t

(
b2 + b2 + bt+ b2 + 2bt+ t2

)
= 3tb(b+ t) + t3,

the condition can be rewritten as

(11− 3t)b(b+ t) ≤ t3 ≤ (12− 3t)b(b+ t).

We can not have t ≥ 4 since in that case t3 ≤ (12 − 3t)b(b + t) is not satisfied as the right
hand side is not positive. Therefore it remains to check the cases when t ∈ {1, 2, 3}.
If t = 3, the above condition becomes

2b(b+ 3) ≤ 27 ≤ 3b(b+ 3).

If b ≥ 3, the left hand side is greater than 27 and if b = 1 the right hand side is smaller than
27 so there are no solutions in these cases. If b = 2, we get a solution (a, b) = (5, 2).
If t ≤ 2, we have

(11− 3t)b(b+ t) ≥ (11− 6) · 1 · (1 + 1) = 10 > t3,

so there are no solutions in this case.

In summary, the only solution is (a, b) = (5, 2).

Solution 2. First, from a3 − b3 ≥ 11ab > 0 it follows that a > b, implying that a − b ≥ 1.
Note that

a3 − b3 = (a− b)(a2 + ab+ b2) = (a− b)
[
(a− b)2 + 3ab

]
≥ (a− b)(1 + 3ab) > 3ab(a− b).

Therefore 12ab ≥ a3 − b3 > 3ab(a− b), which implies that a− b < 4 so a− b ∈ {1, 2, 3}. We
discuss three possible cases:
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• a− b = 1

After replacing a = b+ 1, the condition a3 − b3 ≥ 11ab reduces to 1 ≥ 8b2 + 8b, which
is not satisfied for any positive integer b.

• a− b = 2

After replacing a = b+2, the condition a3− b3 ≥ 11ab reduces to 8 ≥ 5b2+10b, which
is also not satisfied for any positive integer b.

• a− b = 3

After replacing a = b+ 3, the condition a3 − b3 ≥ 11ab reduces to 27 ≥ 2b2 + 6b. The
last inequality holds true only for b = 1 and b = 2. For b = 1 we get a = 4 and for
b = 2 we get a = 5. Direct verification shows that a3 − b3 ≤ 12ab is satisfied only for
(a, b) = (5, 2).

In summary, (a, b) = (5, 2) is the only pair of positive integers satisfying all conditions of the
problem.
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Problem 2. Let ABC be an acute triangle such that AH = HD, where H is the
orthocenter of ABC and D ∈ BC is the foot of the altitude from the vertex A. Let ℓ
denote the line through H which is tangent to the circumcircle of the triangle BHC.
Let S and T be the intersection points of ℓ with AB and AC, respectively. Denote the
midpoints of BH and CH by M and N , respectively. Prove that the lines SM and
TN are parallel.

Solution 1. In order to prove that SM and TN are parallel, it suffices to prove that both
of them are perpendicular to ST . Due to symmetry, we will provide a detailed proof of
SM ⊥ ST , whereas the proof of TN ⊥ ST is analogous. In this solution we will use the
following notation: ∠BAC = α, ∠ABC = β, ∠ACB = γ.

We first observe that, due to the tangency condition, we have

∠SHB = ∠HCB = 90◦ − β.

Combining the above with
∠SBH = ∠ABH = 90◦ − α

we get
∠BSH = 180◦ − (90◦ − β)− (90◦ − α) = α + β = 180◦ − γ

from which it follows that ∠AST = γ.
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Since AH = HD, H is the midpoint of AD. If K denotes the midpoint of AB, we have
that KH and BC are parallel. Since M is the midpoint of BH, the lines KM and AD
are parallel, from which it follows that KM is perpendicular to BC. As KH and BC are
parallel, we have that KM is perpendicular to KH so ∠MKH = 90◦. Using the parallel
lines KH and BC we also have

∠KHM = ∠KHB = ∠HBC.

Now,

∠HMK = 90◦ − ∠KHM = 90◦ − ∠HBC = 90◦ − (90◦ − γ) = γ = ∠AST = ∠KSH,

so the quadrilateral MSKH is cyclic, which implies that ∠MSH = ∠MKH = 90◦. In other
words, the lines SM and ST are perpendicular, which completes our proof.

Solution 2. We will refer to the same figure as in the first solution. Since CH is tangent
to the circumcircle of triangle BHC, we have

∠SHB = ∠HCB = 90◦ − ∠ABC = ∠HAB.

From the above it follows that triangles AHB and HSB are similar. If K denotes the
midpoint of AB, then triangles AHK and HSM are also similar. Now, observe that H and
K are respectively the midpoints of AD and AB, which implies that HK ∥ DB, so

∠AHK = ∠ADB = 90◦.

Now, from the last observation and the similarity of triangles AHK and HSM , it follows
that

∠HSM = ∠AHK = 90◦.

Due to symmetry, analogously as above, we can prove that ∠HTN = 90◦, implying that
both SM and TN are perpendicular to TS, hence they are parallel.
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Problem 3. Find all quadruples of positive integers (p, q, a, b), where p and q are
prime numbers and a > 1, such that

pa = 1 + 5qb.

Solution 1. First of all, observe that if p, q are both odd, then the left hand side of the
given equation is odd and the right hand side is even so there are no solutions in this case.
In other words, one of these numbers has to be equal to 2 so we can discuss the following
two cases:

• p = 2

In this case the given equation becomes

2a = 1 + 5 · qb.

Note that q has to be odd. In addition, 2a ≡ 1 (mod 5). It can be easily shown that
the last equation holds if and only if a = 4c, for some positive integer c. Now, our
equation becomes 24c − 1 = 5 · qb, which can be written into its equivalent form

(4c − 1)(4c + 1) = 5 · qb.

Since q is odd, it can not divide both 4c − 1 and 4c + 1. Namely, if it divides both
of these numbers then it also divides their difference, which is equal to 2, and this is
clearly impossible. Therefore, we have that either qb|4c − 1 or qb|4c + 1, which implies
that one of the numbers 4c − 1 and 4c + 1 divides 5. Since for c ≥ 2 both of these
numbers are greater than 5, we only need to discuss the case c = 1. But in this
case 5 · qb = 15, which is obviously satisfied only for b = 1 and q = 3. In summary,
(p, q, a, b) = (2, 3, 4, 1) is the only solution in this case.

• q = 2

In this case obviously p must be an odd number and the given equation becomes

pa = 1 + 5 · 2b.

First, assume that b is even. Then 2b ≡ 1 (mod 3), which implies that 1 + 5 · 2b is
divisible by 3, hence 3 | pa so p must be equal to 3 and our equation becomes

3a = 1 + 5 · 2b.

From here it follows that 3a ≡ 1 (mod 5), which implies that a = 4c, for some positive
integer c. Then the equation 3a = 1 + 5 · 2b can be written into its equivalent form

32c − 1

2
· 3

2c + 1

2
= 5 · 2b−2.
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Observe now that 32c ≡ 1 (mod 4) from where it follows that 32c+1
2

≡ 1 (mod 2). From

here we can conclude that the number is 32c+1
2

is relatively prime to 2b−2, so it has to

divide 5. Clearly, this is possible only for c = 1 since for c > 1 we have 32c+1
2

> 5. For
c = 1, we easily find b = 4, which yields the solution (p, q, a, b) = (3, 2, 4, 4).

Next, we discuss the case when b is odd. In this case,

pa = 1 + 5 · 2b ≡ 1 + 5 · 2 ≡ 2 (mod 3).

The last equation implies that a must be odd. Namely, if a is even then we can not
have pa ≡ 2 (mod 3) regardless of the value of p. Combined with the condition a > 1,
we conclude that a ≥ 3. The equation pa = 1 + 5 · 2b can be written as

5 · 2b = pa − 1 = (p− 1)
(
pa−1 + pa−2 + · · ·+ 1

)
.

Observe that

pa−1 + pa−2 + · · ·+ 1 ≡ 1 + 1 + · · ·+ 1 = a ≡ 1 (mod 2),

so this number is relatively prime to 2b, which means that it has to divide 5. But this
is impossible, since a ≥ 3 and p ≥ 3 imply that

pa−1 + pa−2 + · · ·+ 1 ≥ p2 + p+ 1 ≥ 32 + 3 + 1 = 13 > 5.

In other words, there are no solutions when q = 2 and b is an even number.

In summary, (a, b, p, q) = (4, 4, 3, 2) and (a, b, p, q) = (4, 1, 2, 3) are the only solutions.

Solution 2. Analogously as in the first solution we conclude that at least one of the numbers
p and q has to be even. Since these numbers are prime, this implies that at least one of p
and q must be equal to 2. Therefore it is sufficient to discuss the following two cases:

• p = 2

In this case the given equation then becomes

2a = 1 + 5 · qb.

From here, it follows that q is an odd number. In addition, 2a ≡ 1 (mod 5), which
implies that a = 4c, for some positive integer c. Then the above equation can be
written in its equivalent form

(2c − 1) (2c + 1)
(
22c + 1

)
= 5 · qb.

Since 2c−1, 2c and 2c+1 are three consecutive integers, one of them must be divisible
by 3. Clearly it is not 2c implying that one of the numbers 2c−1 and 2c+1 is divisible
by 3. This implies that 3 | (2c − 1) (2c + 1) (22c + 1) so 3 | 5 · qb, hence q must be equal
to 3 and we are left with solving the equation

(2c − 1) (2c + 1)
(
22c + 1

)
= 5 · 3b.

Note that 22c + 1 ≡ 2 (mod 3) so from the above equation it follows that 22c + 1
must be equal to 5, which implies that c = 1. For c = 1 we have b = 1, so we get
(a, b, p, q) = (4, 1, 2, 3) as the only solution in this case.
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• q = 2

In this case the given equation becomes

pa = 1 + 5 · 2b

so clearly p must be an odd number.

If a is odd then we have

5 · 2b = (p− 1)
(
pa−1 + pa−2 + · · ·+ p+ 1

)
.

The second bracket on the right hand side is sum of a odd numbers so it is an odd
number. Due to the condition a > 1 we must have a ≥ 3. But then

pa−1 + pa−2 + · · ·+ p+ 1 ≥ p2 + p+ 1 ≥ 32 + 3 + 1 > 5

so we do not have solutions in this case. Therefore it remains to discuss the case when
a is even.

Let a = 2c for some positive integer c. Then we have the following equation

(pc − 1) (pc + 1) = 5 · 2b.

Note that pc − 1 and pc + 1 are two consecutive even numbers so one of them is
divisible by 2 but not by 4. Looking into the right hand side of the above equation,
we conclude that this number must be equal to either 2 or 5 · 2 = 10. In other words,
either pc − 1 ∈ {2, 10} or pc + 1 ∈ {2, 10} yielding the following possible values for pc:
1, 3, 9, 11. Clearly pc = 1 is impossible, whereas pc = 3 implies that (pc − 1) (pc + 1) is
not divisible by 5 so there are no solutions if pc = 3. Similarly, for pc = 11 we have
that (pc − 1) (pc + 1) is divisible by 3 so it can not be equal to 5 · 2b for any positive
integer b. Finally, if pc = 9, we have solution (a, b, p, q) = (4, 4, 3, 2).

In summary, (a, b, p, q) = (4, 4, 3, 2) and (a, b, p, q) = (4, 1, 2, 3) are the only solutions.
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Problem 4. We call an even positive integer n nice if the set {1, 2, . . . , n} can be
partitioned into n

2
two-element subsets, such that the sum of the elements in each

subset is a power of 3. For example, 6 is nice, because the set {1, 2, 3, 4, 5, 6} can be
partitioned into subsets {1, 2}, {3, 6}, {4, 5}. Find the number of nice positive integers
which are smaller than 32022.

Solution. For a nice number n and a given partition of the set {1, 2, . . . , n} into two-
element subsets such that the sum of the elements in each subset is a power of 3, we say
that a, b ∈ {1, 2, . . . , n} are paired if both of them belong to the same subset.
Let x be a nice number and k be a (unique) non-negative integer such that 3k ≤ x < 3k+1.
Suppose that x is paired with y < x. Then, x+ y = 3s, for some positive integer s. Since

3s = x+ y < 2x < 2 · 3k+1 < 3k+2,

we must have s < k + 2. On the other hand, the inequality

x+ y ≥ 3k + 1 > 3k

implies that s > k. From these we conclude that s must be equal to k + 1, so x+ y = 3k+1.
The last equation, combined with x > y, implies that x > 3k+1

2
.

Similarly as above, we can conclude that each number z from the closed interval
[
3k+1 − x, x

]
is paired with 3k+1 − z. Namely, for any such z, the larger of the numbers z and 3k+1 − z is
greater than 3k+1

2
which is greater than 3k, so the numbers z and 3k+1 − z must necessarily

be in the same subset. In other words, each number from the interval
[
3k+1 − x, x

]
is paired

with another number from this interval. Note that this implies that all numbers smaller than
3k+1 − x are paired among themselves, so the number 3k+1 − x − 1 is either nice or equals
zero. Also, the number 3k must be paired with 2 · 3k, so x ≥ 2 · 3k.

Finally, we prove by induction that an = 2n − 1, where an is the number of nice positive
integers smaller than 3n. For n = 1, the claim is obviously true, because 2 is the only nice
positive integer smaller than 3. Now, assume that an = 2n − 1 for some positive integer n.
We will prove that an+1 = 2n+1 − 1. To prove this, first observe that the number of nice
positive integers between 2 · 3n and 3n+1 is exactly an+1 − an. Next, observe that 3n+1 − 1
is nice. For every nice number 2 · 3n ≤ x < 3n+1 − 1, the number 3n+1 − x − 1 is also nice
and is strictly smaller than 3n. Also, for every positive integer y < 3n, obviously there is a
unique number x such that 2 · 3n ≤ x < 3n+1 − 1 and 3n+1 − x− 1 = y. Thus,

an+1 − an = an + 1 ⇔ an+1 = 2an + 1 = 2(2n − 1) + 1 = 2n+1 − 1

completing the proof.

In summary, there are 22022 − 1 nice positive integers smaller than 32022.
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